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AABC ABC abc
sindA + sinB = ( cosA + cosB) sinC.
(I : AABC ;
2 (1) a+b+ce=1+)2 AABC
1.2
~ (1)
- (1) sinA + sinB = (cosA +
. N N 7o cosB) sinC
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B+ -d F+ad - b
a+b=( + ) cc=
2bc 2ca
B+t -d F+ad-b
2b 2a
V- +d F-d -
b - a
ab®> —ac® +da’ =bc® - ba’® - b’.
ac® +b* =ab® +ad’b +a’ + b’
=a(a® +b°) +b(a” +b)
=(a+b)(a" +b).

(a+b) *(a*+b)=(a+b) -
a+b>0 a’ +b=ck
AABC £.C =90°.

(1) a+b+c=1+J2 a>+b*=¢"

1+/2=a+b++a* +b> =2./ab +/2ab
=(2+/2) Jab

a=0b
2 1 1 2\’
Jab < 7 SAABC Z?(lb = ? X (\/27)
= ANABC i
i
L “ sinA
+ sinB =( cosA + cosB) sinC
sinA sinB sinC
cosA cosB
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sind + sinB = ( cosA + cosB) sinC

sindA + sin( A + C) = ( cosA + cosB) sinC =
cosAsinC + cosBsinC.

sind + sindcosC + cosAsinC = cosAsinC +
cosBsinC.

sind + sinAcosC = cosBsinC.

sin( B + C) + sinAcosC = cosBsinC

sinBcosC + cosBsinC + sinAcosC = cosBsinC.

sinBcosC + sinAcosC =0

( sinB + sinA) cosC = 0.

ABe(0m
sinB + sinA # 0.
cosC = 0.
C =90°.
2 “
| ' ! ”
L “ !
? ’7( “ ’?) L : “
(1) .
(2)
” 13 I
r) ” L
sinA + sinB = (cosA +
cosB) sinC :
90° . (2) ?
S =
1 1 1
—absinC = —acsinB = —bcsindA .7 c
2 2 2
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ANABC
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(2)
1 .
S=5absmC a+b+c

=1+,2 7 L

n» L«
7, “sinA + sinB = (cosA +

cosB) sinC
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